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2) c=1
3) IfC<=IOO\
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read a,b / _
area =a*b
print arfa/

c=c+1
Goto 3

}
4) End
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c=c+1
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{ C=C+1
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N=N+1
Goto5 7
else
R=R+1
Goto5
}
else
Print N, R
End
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sum=sum + N
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goto4
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Area =L*L
GoTo 2
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4) End
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Area =L*L << sl DA S>> /
Print Area > ‘ Jes / PrintC
C=C+1 ) l l
GoTo3 Area =L*L -
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5) Else .
6) PrintC -
7) End v
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Print sum
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3) Read G
—_
4) IfG>=0
{ 5)53 Read G
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If G>=50
c=c+1
goto3
else
Goto3 Print C
}
else
Print C
End C=C+1
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1) Start

2) C=0

3) Sum=0

4) ReadL

5) IfL>=0
{

4/0
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Area =L*L
Sum=sum + Area
C=C+1
GoTo4
}
6) Else
ifC+0
{
Avg= sum /c
Print Avg

}
7) End
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yes
Area =L*L

Sum=sum + Area

End
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sum=0
k=1

If (k<=49)
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Sum=sum + k
K=K+2
goto (4)
}
5. else
Print sum
6. End
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S=%+%+1/6+..+1/n

%
Start %,

Read n %
S=0 , k=2
If (k<=n)
{
S=S+1/k
k=k+ 2
go to (4)

}
5. else
Print S
6. End
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Read n
| K=2,5=0
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If (K<=n)
Lyes
[ s=s+i/k |
Print S l
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